EDDI implements ISBL as a 'definitive notation’

%eddi

allfruits (name CHAR, begin INT, end INT):
allfruits << ["granny",8,10], ["lemon",5,12], ["kiwi",5,6], ["passion”,5,7];
allfruits << ["orange",4,11], ["grape”,3,6],["1lime",4,7], ["pear",4,8];

apple (name CHAR, price REAL, gnt INT):
apple << ["cox",0.20,8],["red",0.35,4], ["granny",0.25,20]:
citrus (name CHAR, price REARL, gnt INT);

citrus << ["lime",0.30,3], ["orange",0.55,8], ["kiwi",0.75,5],["lemon",0.50,2];

soldfruit (name CHAR, unitsold INT):
soldfruit << ["cox",100], ["granny",153], ["red",70]:
soldfruit << ["kiwi",23],["lime",15], ["lemon",55], ["orange", 78]

o

fruits i1s allfruits % name;
o)

popcitrus is (fruits.citrus % name) . (soldfruit : unitsold > 50 % name);

nonapplesncox = allfruits-(allfruits*apple%name,begin,end)+allfruits:name=="cox";

EDDI - base for teaching environment used at \Warwick over 4 years:
approximately 300 computing-based 2nd year students each year

lllustrate a simplified version in this talk ...




The SQLEDDI environment
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Typechecks on attributes -

Use natural join

Output from gueries EXAMPLE QUERIES

|?app1e % name + allfruits % name;

|?app1e % name, gnt + citrus % name,

fallfruits % name, begin + apple %
name, qgnt;

|?allFr‘ui‘t5 * apple;

(SELECT name FROM apple) UNIOWN (SELECT
name FROM allfruits);

(SELECT name, begin FROM allfruits)
UMION (SELECT name, gnt FROM apple);

SELECT * FROM allfruits, apple;
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